dn) uonong

MaJog bunles

PB

PC
pD
Y

PF

PO
CPH
PJ
CORE
PK2
PK2B
PK2L
PL

PN

PN-B
e
Q.
R

PU

PW

RA

SM

503

02 Suction Cup

TN.

Dimensions

Setting Screw

RoHS#

(mm)

Rl TN-PA-30-M6 Weight] 8.69

V2] TN-PC-10-M5 Weight  3.99

14H
@25
MéxX1 ’«7
S
i | r] - < | ~ Applicable cup model
- PAG-30B- [J
oy~
‘ ™M
06
2.5H
210

~ 212
~_Seal washer

Applicable cup model

M5X0.8 rﬂ 12H

PCG-10-[J

" PCG-15-[J

T < PCG-18-0
- PCG-20-[J

(=5

%[ in the table indicates the cup material.

¥[Jin the table indicates the cup material.

Vel TN-PC-30-M8 Weight|

12.3g

~| @13
.
SN _Seal washer

@34
MéxX1 Applicable cup model
" PCG-30- [
= PCG-40- [J
T & PCG-60- [J
o
i A
4H 52}

@15

@18
-
”%Wr

Applicable cup model

M8X1.25
PCG-30- [J
. PCG-40- [J
— Y PCG-60- [J
4H =T

@15

%[ in the table indicates the cup material.

%[ in the table indicates the cup material.

47.4g

V=] TN-PF-10-M5 weight)  1.0g

226
@39
S7

Applicable cup model

PCG-90- O

Applicable cup model

PFG-10-0

PK2-10-T

*[J in the table indicates the cup material.

X[ in the table indicates the cup material.



Dimensions

Setting Screw

(mm)

VBN TN-PF-20-M5 Weight‘ 2.39

@25

Applicable cup model

| ~ o PFG-15-0J
r e PJG-10/15-0
~ PK2-15/20-T
3H PRG-12.5X23- [J

28

Applicable cup model

o PBG-20-

11

PDG-20- O

~ PFG-20- O

PFOG-20- O

PJG-20/25- 0

PNG-121-0

PRG-32X32 O

X[ in the table indicates the cup material.

*[J in the table indicates the cup material.

Rl TN-PF-50-M6 Weight] 7.89

Applicable cup model

PBG-30/40- J

16.5

PDG-20/30/40- [

PFG-20B/25/30/35/40- [J

PFOG-/25/30/35/40-

PHG-30/45- [

PJG-30/35/40- [

PK2-25-T

M6X 1 23
Applicable cup model
‘ = PBG-50- [
\ Eal PDG-50- (]
PFG-50- [J
aH 550 — PJG-50- [

*[Jin the table indicates the cup material.

*[Jin the table indicates the cup material.

2 TN-PF-50-M8 Weight|  8.99

V8] TN-PH-65-M10 Weight)  30.3g

@39
M8X1.25
I Applicable cup model
\ IS PBG-50- [J
PDG-50- [J
/ﬂJ = PFG-50- [
4H 1: 220 PJG-50- J

220
M10X1.25
SRR 2105 | P10
S18
<~ T [
= &5 ,L/ I« _
J —y Applicable cup model
[ J PHG-65- [J
©24 _ PHG-90- [J
o
)
=2

[ in the table indicates the cup material.

%[ in the table indicates the cup material.

2l TN-PK-100-M10 Weight|  34.7g

VSl TN-PK2-30-M6 Weight] 13.1g

219
M10X1.5 o4
E o

— — Applicable cup model

© r\'I PK2-60-T
PK2-80-T
PK2-100-T
PK2-120-T
PK2-150-T

@10

MéX1 r 23
n
o) -
ro Applicable cup model
y PK2-30-T
\© PK2-50-T

dn) uonong

MaJog bunnles

02

Suction Cup

PA

PB

PC
D
—

PF

PFO

PH

P)

CORE

PK2

PK2B

PK2L

PL

PN

PN-B
—
—
——

PU

PW

RA

504



dn) uonong

MaJog bunles

PB

PC
pD
Y

PF

PFO

PH

PJ
CORE
PK2
PK2B
PK2L
PL
PN
PN-B
e
Q.
R

PU

PW

RA

SM

505 ‘

Setting Screw

Dimensions

V™1 TN-PK-100-M10F Weight|  45.9g
219
M10X1.25 ‘ 102
on ]
g N
—® Applicable cup model
PK2-60-T
©28 ‘m_ PK2-80-T
© PK2-100-T
PK2-120-T
PK2-150-T

¢

(mm)
[Vl TN-PK-100-M12 Weight 5599
@19
@6.5
M12X1.75 ’Hi
wn
-y m Applicable cup model

il & PK2-60-T

298 PK2-80-T

3 PK2-100-T

PK2-120-T

v © PK2-150-T

I TNnpe-6710  IEEEERRE VB TN-PK2-30-M10 weight] 144 g
210
@19 "
24
M16X1.5 M10X 1.5 . —
— w
- O
—_— Applicable cup model AT Applicable cup model
PK2-60-T ~y O PK2-30-T
Lﬁ.‘ 8 PK2-80-T ‘ © PK2-50-T
PK2-100-T ‘ 216
PK2-120-T ~——J
e PK2-150-T T}fi; £
3 1
28] TN-PK2-40-M6 Weight  14.2 g 28] TN-PK2-40-M10 Weight 153 g
210 210
M6X 1.0
| @3 M10X15 hﬁ
n 3 N Applicable cup model _ Applicable cup model
“©y PK2-40-T ol 8 PK2-40-T
O Yy
| | ©
216 |
216
_ ?, “’i - ©
\;1 i

el TN-PK2L-M8 Weght]  5.79

Model Weight ‘ 4.59g
84
229
M6X 1 ﬁi
n|
©ln
© s Applicable cup model
o — PK2L-60X20-T
PK2L-80X30-T

M8X1.25

239
"]

(8.5)
10.5

R
f

Applicable cup model

238
~

TN-PK2L-100%x40-T

@18




Dimensions

Setting Screw

(mm)

V8] TN-PN-102-M6 Weight|  25.8g

Seal washer @13
M6X1 ‘.&3 N
17H L: = Applicable cup model
v
M12X1.5 ) PNG-101-J
M12X1.5 17H
~ 2105
215.5

Seal washer 213
N

M6X1 23
|
17H % =
M12X1.5 0]
M12X1.5 17H
~t [ @105

@155

Applicable cup model

PNG-102- O

X[ in the table indicates the cup material.

*[J in the table indicates the cup material.

2] TN-PN-104-M6 Weight|  5.69

Seal washer 213 ~
23 12H
Applicable cup model
M6X1 © PNG-103- 0

N

I [=)

J ¢= ~
| o

@8

Seal washer 213 ~
@3 12H
Applicable cup model
/‘9 PNG-104- [J
M6X1 i~ PNG-106- [J
IS PNG-110-[J
i i PNG-111-0J

%]

EWAT“ _

[ in the table indicates the cup material.

%[ in the table indicates the cup material.

V8] TN-PN-108-M10 Weight| 4559

8] TN-PN-107-M10 Weight|  43.9g
24H
M10X1.25 225 24H M10X1.25 @25

3:?[ =

n | K
Applicable cup model - | J g "
PNG-107-J L Sl s

L=

| | |o6

Applicable cup model

PNG-108- [

[ in the table indicates the cup material.

%[ in the table indicates the cup material.

] TN-PN-112-M6 Weight|  6.69

Model Weight ‘ 3.2g9
Seal washer 213 N
212 ‘ ~N Seal washer ’-—-‘ —
Applicable cup model 12H
215 10H PNG-109- [ ‘—@ ‘
o~
N‘ O
M5X0.8 oy | MeXT — o
N} il ~ ~
[oe] —
@35 27

Applicable cup model

PNG-112-0

X[ in the table indicates the cup material.

%[ in the table indicates the cup material.

dn) uonong

MaJog bunnles

02

Suction Cup
PA
PB
PC

D
—
PF
PO
—
P)
CORE
PK2
PK2B
PK2L
PL
PN
PN-B

—

—

——
PU
PW

RA

506



dn) uonong

MaJog bunles

PB

PC
pD
Y

PF

PFO

PH

PJ
CORE
PK2
PK2B
PK2L
PL
PN
PN-B
e
Q.
R

PU

PW

RA

SM

507

Setting Screw

Dimensions

(mm)

2l TN-PN-116-M5 Wegt]  3.7g

Seal washer 212 ~
M5X0.8 Applicable cup model
TL]'S 101 PNG-114- 0]
all
(¥a)
e
(o]
3

Seal washer 212 ~
i Applicable cup model
M5X0.8 @25 12H PNG-116- ]
o PNG-117-01
" PNG-125-[]
e N

sl
RIS

%[ in the table indicates the cup material.

X[ in the table indicates the cup material.

2] TN-PN-123-M5 Weight|  7.1g

Seal washer 213 ~
)
M6X1 23
|
17H .‘%?D:; < Applicable cup model
M12X1.5 ey PNG-122-[J
M12X1.5 17H
2105 2
2155

@12

Seal washer ~

M5X0.8 Cal
o) ™ Applicable cup model
10H PNG-123-[J

M4X0.7 jﬂﬁ

700
(M
22 ©
8.4

%[ in the table indicates the cup material.

¥[Jin the table indicates the cup material.

V™ TN-PR-15-M5 Weight| 5.79

S&ﬂwwﬂ“ﬂ\\\:i;iz ~
@25 12H Applicable cup model

MoX08 | PNG-130A- O

~ PNG-130B- OJ

— . PNG-131-0

o~ PNG-133-0

PNG-134- O

7

Seal washer @12 ~
N
225 10H
M5X0.8
] Applicable cup model
n /
— PRG-9.5X25-
PRG-15X30- [
o
Iy ™
o
@5

%[ in the table indicates the cup material.

%[ in the table indicates the cup material.

Vel TN-PS-10-M5F Weight|  1.1g

M5X0.8

Applicable cup model

PAG-10A/15A/20A- 0

PAG-10B/15B/20B- [J

2H PBG-10A/15A- 0
PCG-5/7-0
PFG-5A/6A/8A/10A/15A- 00
PJG-6/8- 0
PNG-132- [

8H
M5X0.8 depth 6

el Applicable cup model

|
|

12

PAG-10A/15A/20A- 0

PAG-10B/15B/20B- O

PBG-10A/15A- 0
on PCG-5/7- (]
PFG-5A/6A/8A/10A/15A- [
©6 PJG-6/8- ]
PNG-132-0J

%[ in the table indicates the cup material.

X[ in the table indicates the cup material.



TN

Dimensions

Setting Screw

M3X0.5 1.2 5.5H
o
¥ " Applicable cup model
‘ ’ M| PAG-5B- [J
i - PCG-3- [
L = PFG-1.5A-J
@ PFG-2A- [J
PFG-3.5A-[J
o3 PIG-2/4- [

(mm)
V] TN-PS-2A-M3F Weigt  0.8g
M3X0.5 depth 3.5 5.5H
|
‘ © Applicable cup model
! N PAG-5B- [
« PCG-3- [J
2 PFG-1.5A-
] - — PFG-2A-
‘ jO_Z_J PFG-3.5A-0J
@3 PJG-2/4- ]

X[ in the table indicates the cup material.

*[J in the table indicates the cup material.

8] TN-PS-2X4A-M3 Weight) 099

M5X0.8 @12 55H

/

wn
‘ Applicable cup model

PAG-5B- [J

10.5

| ” PCG-3-[

" PFG-1.5A- 00
EET’N

n PFG-2A-[J
22

PFG-3.5A-
a3 PJG-2/4-0

@12

M3X0.5
[ap]
™}
- o Applicable cup model
o PFG-2X4A-[J
226 — PFG-3.5X7A- [
Q
N
wn

e

¥[Jin the table indicates the cup material.

B TN-PS-2X4A-M3F Weight| 139

M3X0.5 depth 3.5
| W N
%)
(o)}
n
H——=T™ Applicable cup model
Lle12 PFG-2X4A- [
@26 PFG-3.5X7A- ]
Dl in
~ m-{
4]

[ in the table indicates the cup material.

*[Jin the table indicates the cup material.

dn) uonong

MaJog bunnles

1)

Suction Cup

PA

PB

PC
D
—

PF

PFO

PH

P)

CORE

PK2

PK2B

PK2L

PL

PN

PN-B
—
—
——

PU

PW

RA

508



